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Interpret it regarding blood — Q7R X220

OVERVIEW

The R 1) asked how can we say that P %0 2o are PWoIn, since X1 72 "0 M
ruled that the X°mavn n°a “pwn (which are o7 %) are not 7Ww2n. The Xna
answered that we will apply the ruling of 11271 only for o7 (that 27 is not °wan),
but not for o’ (which is °won). NvOIN resolves an apparent difficulty.

- 1PPPUN 72 PNRYNT 17152 MNP SPYN NI XMWY NAN 7599 (35 97 PINT 72 D993
In the second p=» of 1"»71 noon the X nx asks on this answer (that 278 X»37n),
‘but "2 stated spwn with a 7''y’ (which is the plural form)" indicating (at least)

two PpwR (the 07 and the o°n), so how can you answer 27X X137 -
- Nyt APYN SPYN INM YUY 81T DIYWN NI INAN YN XY NON)

However, here our X713 was not concerned about this challenge; since it is

possible to answer that >pw? (in the plural) refers to all the pwn of o7 -
- >NYYT MANA (3,70 41 PRy VINTI

As the Xn) states in w172 noon that the word M7 (in plural) means nY9a2
generally, so here too *pwn can mean Xnoy7 Tpwn —

Moo responds to the anticipated difficulty:*
PNIINN NMPY 1YY IPRT DIV 7299 BN
And there (in 771) the X3 did ask this question because the X n3 there had

" The singular form would be 7pwn with a X"71.
2 All the blood of all the ma7p of all times; all these 1pwn are not Xnvn, but it does not mean two types of 1pwn
(namely 07 and 0°n). See ‘Thinking it over’.
3 The mawn there stated if a father was w7pn his daughter without specifying which daughter, the 132 (the older
daughters) are not included. The & 13 inferred from this that the nvp are included and are 502 MwTpPH; however it
is a R°2% 1Mon1 RO TR (for regarding each mivp there is a Pod perhaps the father meant to be wIpn her sister,
which maker her 1nwX mnX which is prohibited). The X713 answered there were only two daughters, one n7312 and
one 7P (and we say only the m10p is NwTPn). The X3 asked but it says N17312 in the plural, how can you say there
was only one N33, The &3 responded X»7¥7 N33, The mawn means that in all cases where the father has a N2
and a 7110p only the navp (of all these cases) are nwTPn but not the N17312 (of all these cases).
* Why did the X3 ask this question in 1997 since we can answer X22¥7 pwn (as the X3 assumes here).
> The ®°30 there was discussing whether it is necessary for DwTp 199X to be R 2p% W like 1911, or do we
say that Wi nan makes them XY 22p% WM even without 1°pwn wai. The X na attempted to prove this from the
fact that the 770 teaches that 77w WR2 "3 RAY 902 Y2 WK WM, the w2 could not become XML 22p% WM not
from the 07 and not from the 1"pwn since 112" rules that *pwn (plural) X»nav 7 N2 is not 7°won, we must therefore
say that the w2 became W3 through w7pn n2°m. The &3 there had a vested interest in not offering the
explanation offered here because it was attempting to prove that jn7won wnpin nan. However in our X773 where we
have no other agenda, we can offer M50 response that X227 pwn *pwn "1, See ‘Thinking it over’.
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another answer.

SUMMARY
A plural term can refer to many singular items

THINKING IT OVER

Seemingly Moo answer of RnHyT 7pWwH *pwn 1 is not understood. If this is a valid
answer, how could the X3 in "2 ignore it and prove the JnWwon WP nan,’ and
if 1t 1s not a valid answer, how can 9010 use it here?!

6 See footnote # 5.
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